



ARIZONA DEPARTMENT OF TRANSPORTATION  
PROJECT DELIVERY AND OPERATIONS DIVISION  
CONTRACTS AND SPECIFICATIONS SECTION

## TABULATION OF BIDS

**CONTRACT # 2025054**

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
010 MA 145 F069201C	010-C-(231)T	104177	MARICOPA	CENTRAL	15.1		Patwary Mohammed

Highway Termini	Location	Work Description
• PHOENIX - CASA GRANDE HWY (I-10)	• 7th Street - Chandler Boulevar	• System Enhancement (Other Enhancements)

## BID RESULTS FOR 2025054

Bid Opening Date : 10/31/2025, Prequalification Required, Engineer Specialist : Patwary Mohammed

**Completion Date:**

220 Calendar Days

The proposed project is located in Maricopa County on I-10, within the City of Phoenix at 7th Street north and south of I-10, Elliot Road west of I-10, Warner Road west of I-10, Ray Road west of I-10, and Chandler Boulevard west of I-10. The proposed work consists of milling existing asphaltic concrete pavement and replacing it with new asphaltic concrete pavement, fog seal, or micro-surface treatment. The work includes removing and installing curb, curb and gutter, valley gutter, sidewalk, signs, and pavement markings. The work also includes utility adjustments and the installation of street lighting along Elliot Road and Warner Road.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$2,934,591.00	DEPARTMENT ESTIMATE	\$2,934,591.00
1	+5.3%		\$3,090,844.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$3,090,844.00
2	+25.6%		\$3,685,584.75	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$3,685,584.75

**Winning Bidder is 5.3% Over Department Estimate (Difference = \$156,253.00)**

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		962.000	\$25.000	\$24,050.00	
1	GRANITE CONSTRUCTION COMPANY			\$20.000	\$19,240.00	-20.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$35.000	\$33,670.00	+40.0%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		7,625.000	\$6.000	\$45,750.00	
1	GRANITE CONSTRUCTION COMPANY			\$6.000	\$45,750.00	+0.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$9.000	\$68,625.00	+50.0%
2020031	SQ.YD.	REMOVAL OF PORTLAND CEMENT CONCRETE PAVEMENT				
Bid Rank	Department Estimate		13.000	\$100.000	\$1,300.00	
1	GRANITE CONSTRUCTION COMPANY			\$900.000	\$11,700.00	+800.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$180.000	\$2,340.00	+80.0%
2020036	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		186.000	\$50.000	\$9,300.00	
1	GRANITE CONSTRUCTION COMPANY			\$117.000	\$21,762.00	+134.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$105.000	\$19,530.00	+110.0%
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department Estimate		1.000	\$500.600	\$500.60	
1	GRANITE CONSTRUCTION COMPANY			\$1,000.000	\$1,000.00	+99.8%
2	COMBS CONSTRUCTION COMPANY, INC.			\$500.000	\$500.00	-0.1%
2020053	EACH	REMOVE (TREE GRATE)				
Bid Rank	Department Estimate		6.000	\$1,200.000	\$7,200.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,750.000	\$16,500.00	+129.2%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1,500.000	\$9,000.00	+25.0%
2020054	EACH	REMOVE (TREE STUMP)				
Bid Rank	Department Estimate		6.000	\$700.000	\$4,200.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,200.000	\$13,200.00	+214.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1,500.000	\$9,000.00	+114.3%
2020083	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (2")				
Bid Rank	Department Estimate		47,965.000	\$2.500	\$119,912.50	
1	GRANITE CONSTRUCTION COMPANY			\$11.000	\$527,615.00	+340.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$3.600	\$172,674.00	+44.0%
2020168	SQ.FT.	REMOVE (MEDIAN PAVERS)				
Bid Rank	Department Estimate		3,114.000	\$10.000	\$31,140.00	
1	GRANITE CONSTRUCTION COMPANY			\$8.000	\$24,912.00	-20.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$8.000	\$24,912.00	-20.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4010009	SQ.YD.	PORLTAND CEMENT CONCRETE PAVEMENT (9")				
Bid Rank	Department Estimate		13.000	\$300.000	\$3,900.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,800.000	\$23,400.00	+500.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$100.000	\$1,300.00	-66.7%
4040076	TON	EMULSIFIED ASPHALT (MICRO-SURFACING)				
Bid Rank	Department Estimate		3.000	\$2,000.000	\$6,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$5,800.000	\$17,400.00	+190.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1,000.000	\$3,000.00	-50.0%
4040127	TON	FOG COAT (POLYMER MODIFIED REJUVENATING EMULSION FOG COAT)				
Bid Rank	Department Estimate		5.000	\$1,500.000	\$7,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$4,100.000	\$20,500.00	+173.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$2,300.000	\$11,500.00	+53.3%
4040172	TON	DRY MINERAL AGGREGATE (MICRO-SURFACING) (TYPE II)				
Bid Rank	Department Estimate		95.000	\$300.000	\$28,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$640.000	\$60,800.00	+113.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$360.000	\$34,200.00	+20.0%
4040305	LB.	SEAL CRACKS (POLYMER MODIFIED ASPHALT)				
Bid Rank	Department Estimate		13,349.000	\$8.000	\$106,792.00	
1	GRANITE CONSTRUCTION COMPANY			\$3.500	\$46,721.50	-56.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$3.000	\$40,047.00	-62.5%
4090005	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX) (1/2")				
Bid Rank	Department Estimate		5,385.000	\$200.000	\$1,077,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$111.000	\$597,735.00	-44.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$232.000	\$1,249,320.00	+16.0%
5050201	EACH	RESET FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		18.000	\$1,250.000	\$22,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$4,200.000	\$75,600.00	+236.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$2,000.000	\$36,000.00	+60.0%
6070048	EACH	FOUNDATION FOR SQUARE TUBE POST				
Bid Rank	Department Estimate		1.000	\$750.200	\$750.20	
1	GRANITE CONSTRUCTION COMPANY			\$925.000	\$925.00	+23.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$700.000	\$700.00	-6.7%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		12.000	\$40.000	\$480.00	
1	GRANITE CONSTRUCTION COMPANY			\$148.000	\$1,776.00	+270.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$50.000	\$600.00	+25.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		7.000	\$50.000	\$350.00	
1	GRANITE CONSTRUCTION COMPANY			\$166.000	\$1,162.00	+232.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$60.000	\$420.00	+20.0%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		6,720.000	\$1.000	\$6,720.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.750	\$5,040.00	-25.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.700	\$4,704.00	-30.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		71,125.000	\$0.250	\$17,781.25	
1	GRANITE CONSTRUCTION COMPANY			\$0.070	\$4,978.75	-72.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.850	\$60,456.25	+240.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department Estimate		2,580.000	\$0.900	\$2,322.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.070	\$180.60	-92.2%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.850	\$2,193.00	-5.6%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		3,090.000	\$0.500	\$1,545.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.050	\$154.50	-90.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.600	\$1,854.00	+20.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		72,125.000	\$0.250	\$18,031.25	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$4,327.50	-76.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.600	\$43,275.00	+140.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		200.000	\$450.000	\$90,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$867.250	\$173,450.00	+92.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$280.000	\$56,000.00	-37.8%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		2,460.000	\$0.800	\$1,968.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$147.60	-92.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.850	\$2,091.00	+6.3%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		3,510.000	\$1.000	\$3,510.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.050	\$175.50	-95.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.850	\$2,983.50	-15.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		300.000	\$35.000	\$10,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$32.100	\$9,630.00	-8.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$35.000	\$10,500.00	+0.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		500.000	\$50.000	\$25,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$47.550	\$23,775.00	-4.9%
2	COMBS CONSTRUCTION COMPANY, INC.			\$85.000	\$42,500.00	+70.0%
7016069	L.FT.-DAY	TEMPORARY WATER-FILLED BARRIER				
Bid Rank	Department Estimate		30,000.000	\$1.500	\$45,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.550	\$16,500.00	-63.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.700	\$21,000.00	-53.3%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		900.000	\$60.000	\$54,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$49.000	\$44,100.00	-18.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$57.000	\$51,300.00	-5.0%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		600.000	\$110.000	\$66,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$91.000	\$54,600.00	-17.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$120.000	\$72,000.00	+9.1%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		27,962.000	\$0.750	\$20,971.50	
1	GRANITE CONSTRUCTION COMPANY			\$0.560	\$15,658.72	-25.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.650	\$18,175.30	-13.3%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		1,080.000	\$1.000	\$1,080.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.560	\$604.80	-44.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.650	\$702.00	-35.0%
7040073	EACH	PAVEMENT LEGEND (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		10.000	\$225.000	\$2,250.00	
1	GRANITE CONSTRUCTION COMPANY			\$164.000	\$1,640.00	-27.1%
2	COMBS CONSTRUCTION COMPANY, INC.			\$195.000	\$1,950.00	-13.3%
7040074	EACH	PAVEMENT SYMBOL (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		40.000	\$225.000	\$9,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$136.650	\$5,466.00	-39.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$165.000	\$6,600.00	-26.7%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7060012	EACH	PAVEMENT MARKER, RAISED, TYPE AY				
Bid Rank	Department Estimate		38.000	\$10.000	\$380.00	
1	GRANITE CONSTRUCTION COMPANY			\$3.010	\$114.38	-69.9%
2	COMBS CONSTRUCTION COMPANY, INC.			\$4.000	\$152.00	-60.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		882.000	\$5.000	\$4,410.00	
1	GRANITE CONSTRUCTION COMPANY			\$3.010	\$2,654.82	-39.8%
2	COMBS CONSTRUCTION COMPANY, INC.			\$4.000	\$3,528.00	-20.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		27,962.000	\$0.350	\$9,786.70	
1	GRANITE CONSTRUCTION COMPANY			\$0.260	\$7,270.12	-25.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.350	\$9,786.70	0.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		1,080.000	\$1.000	\$1,080.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.260	\$280.80	-74.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.350	\$378.00	-65.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		40.000	\$125.000	\$5,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$65.600	\$2,624.00	-47.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$70.000	\$2,800.00	-44.0%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		10.000	\$125.000	\$1,250.00	
1	GRANITE CONSTRUCTION COMPANY			\$71.050	\$710.50	-43.2%
2	COMBS CONSTRUCTION COMPANY, INC.			\$75.000	\$750.00	-40.0%
7310190	EACH	POLE (CITY OF PHOENIX / SRP STANDARD) (DIRECT BURY)				
Bid Rank	Department Estimate		8.000	\$5,500.000	\$44,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$5,800.000	\$46,400.00	+5.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$10,000.000	\$80,000.00	+81.8%
7310506	EACH	MAST ARM (6 FT.) (TAPERED)				
Bid Rank	Department Estimate		11.000	\$1,500.000	\$16,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$850.000	\$9,350.00	-43.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$950.000	\$10,450.00	-36.7%
7320032	L.FT.	ELECTRICAL CONDUIT (1") (PVC) (FLEX)				
Bid Rank	Department Estimate		80.000	\$40.000	\$3,200.00	
1	GRANITE CONSTRUCTION COMPANY			\$100.000	\$8,000.00	+150.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$30.000	\$2,400.00	-25.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department Estimate		2,270.000	\$35.000	\$79,450.00	
1	GRANITE CONSTRUCTION COMPANY			\$30.000	\$68,100.00	-14.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$75.000	\$170,250.00	+114.3%
7320410	EACH	PULL BOX (NO. 5)				
Bid Rank	Department Estimate		9.000	\$1,000.000	\$9,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,300.000	\$11,700.00	+30.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$2,000.000	\$18,000.00	+100.0%
7360104	EACH	LUMINAIRE (HORIZONTAL MOUNT) (GE EVOLVE, PHOENIX STANDARD)				
Bid Rank	Department Estimate		11.000	\$1,200.000	\$13,200.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,600.000	\$17,600.00	+33.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$2,500.000	\$27,500.00	+108.3%
8080646	EACH	RESET FRAME AND COVER FOR VALVE BOX				
Bid Rank	Department Estimate		18.000	\$1,000.000	\$18,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,400.000	\$25,200.00	+40.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1,400.000	\$25,200.00	+40.0%
8101017	EACH	EROSION CONTROL (GRAVEL BAGS)				
Bid Rank	Department Estimate		1,535.000	\$15.000	\$23,025.00	
1	GRANITE CONSTRUCTION COMPANY			\$7.000	\$10,745.00	-53.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$6.000	\$9,210.00	-60.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$345,000.000	\$345,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$364,830.410	\$364,830.41	+5.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$439,000.000	\$439,000.00	+27.2%
9080001	L.FT.	CONCRETE CURB (C-05.10) (TYPE A)				
Bid Rank	Department Estimate		20.000	\$60.000	\$1,200.00	
1	GRANITE CONSTRUCTION COMPANY			\$160.000	\$3,200.00	+166.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$45.000	\$900.00	-25.0%
9080084	L.FT.	CONCRETE CURB AND GUTTER (C-05.10) (TYPE D)				
Bid Rank	Department Estimate		161.000	\$75.000	\$12,075.00	
1	GRANITE CONSTRUCTION COMPANY			\$155.000	\$24,955.00	+106.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$65.000	\$10,465.00	-13.3%
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE A (MAG DET. 220-1)				
Bid Rank	Department Estimate		778.000	\$75.000	\$58,350.00	
1	GRANITE CONSTRUCTION COMPANY			\$60.000	\$46,680.00	-20.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$35.000	\$27,230.00	-53.3%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025054 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080134	SQ.FT.	CONCRETE VALLEY GUTTER (MAG DET. 240)				
Bid Rank	Department Estimate		186.000	\$50.000	\$9,300.00	
1	GRANITE CONSTRUCTION COMPANY			\$52.000	\$9,672.00	+4.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$20.000	\$3,720.00	-60.0%
9080242	SQ.FT.	CONCRETE SIDEWALK (COP DET. P1230)				
Bid Rank	Department Estimate		1,408.000	\$35.000	\$49,280.00	
1	GRANITE CONSTRUCTION COMPANY			\$45.000	\$63,360.00	+28.6%
2	COMBS CONSTRUCTION COMPANY, INC.			\$11.000	\$15,488.00	-68.6%
9080295	SQ.FT.	CONCRETE SIDEWALK RAMP				
Bid Rank	Department Estimate		6,330.000	\$35.000	\$221,550.00	
1	GRANITE CONSTRUCTION COMPANY			\$49.750	\$314,917.50	+42.1%
2	COMBS CONSTRUCTION COMPANY, INC.			\$32.000	\$202,560.00	-8.6%
9080304	SQ.FT.	CONCRETE DRIVEWAY (COP DET. P1255-3)				
Bid Rank	Department Estimate		206.000	\$50.000	\$10,300.00	
1	GRANITE CONSTRUCTION COMPANY			\$52.000	\$10,712.00	+4.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$20.000	\$4,120.00	-60.0%
9210011	SQ.YD.	MEDIAN PAVING				
Bid Rank	Department Estimate		343.000	\$150.000	\$51,450.00	
1	GRANITE CONSTRUCTION COMPANY			\$180.000	\$61,740.00	+20.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$225.000	\$77,175.00	+50.0%
9210100	SQ.YD.	CONCRETE UNIT PAVERS				
Bid Rank	Department Estimate		4.000	\$250.000	\$1,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$725.000	\$2,900.00	+190.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$600.000	\$2,400.00	+140.0%
9240013	L.SUM	FORCE ACCOUNT WORK (REMOVAL OF TRASH, DEBRIS & LITTER)				
Bid Rank	Department Estimate		1.000	\$12,000.000	\$12,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$12,000.000	\$12,000.00	+0.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$12,000.000	\$12,000.00	+0.0%
9240014	L.SUM	FORCE ACCOUNT WORK (LANDSCAPE RESTORATION)				
Bid Rank	Department Estimate		1.000	\$12,000.000	\$12,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$12,000.000	\$12,000.00	+0.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$12,000.000	\$12,000.00	+0.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$65,000.000	\$65,000.00	+30.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$402,500.000	\$402,500.00	+705.0%